328 F R

= e
[EEHERE] SH7E1AFR)
1 EEHFEERR
B4 o & b= E 6 BT A 3T B E R IR R
CEES 1,175 F) 1,410 74 e 13
EL -13 -8 +1 -2
& N 8 0 13 1 10 -
EL +1 + 0 +5 + 0
18 I Ay 8 0 13 1
EL Iy X0 iy iy >
T Il A 0 0 0 0 i 3 3 . . . 3
L -2 +0 -2 +0 0
¥ 5] T 0 0 0 0 TRIETET mIEr AT T
T i i o _ Mt WRE uiGE
2 EROBHNH
(1) ERRAI () (2) ZEHER
" & & & E & | B & | BT & ([Z 01 o E & |EBE|B-H| B [BEIMEEE|STE|T0M0
6 £ 8 0 4 3 1 E—L%FF 8 8 0 0 0 0 0 0
5 7 1 1 5 0 B4 EE 8 6 1 0 0 0 1 0
# B +1 -1 +3 -2 +1
(3) “FHbAl (4) iaEH
wpa e ow [saav| R | PR leaur . MRS
B —4EE 8 0 1 5 2 6% 79
RS 8 0 1 5 2 5% 78
(5) BRI A BEHMFEEHHK
— «~ 1\ My
o onan AR HSR 2ikl3
ZOB#OnyZZB#Z 0% 12% d l ‘
’ 2~ 4B

1485~ 166 Hploq e
13%

10FF ~120%
0%

%

[

0%

FIEINTI\FT I

RERLEOX914X

D ETREHZEE(CTOVIISRAES>TINT, BIAH
FRZBEVRRTH =M, BVTLV-DTEDEFEE

EixlLi=,

@ BEHIFBREIZEVESLTL D, /—2ILE/YTESL

1= o

X BAE, —ETISERHLTLET,

kg H (I

e

J=4 ’I’l

n,

-

<L BT I==

]

24

N1 E=NEREET VIR

BALL!
FHEIENS !

WREREFA =
[(Wnsrsn)
x

L) len =
4 o
i
E100
exEREE

aaaaa

VAXADEZ: DX (REBEEBEHERLGVETIOX (AREREHE

SFERERLGVEY)




